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47. Which of the following defines the solution set for the
gystem of inequalities below?
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29. In Intermediate Algebra class, Ms. Schimmack makes
the statement “y varjes directly as the product of w'
and .. and inversely as " and asks her students to
translate it into an equation. Which of the following
equations, with k as the constant of proportionality, is a
correct translation of Ms. Schimmack’s statement?
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C. y=2E 49. 1f two lines in the standard (x,y) coordinate plane are
) E;rpendicular and the slope of one of the lines is 3,
D, y=-% what is the stope of the other line?
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36. Which of the following is an equation of the line that 1 ' \
passes through the points (1,3) and (~3,-13) in the @ 3 Q@ C,\ @ (e
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) §0. In the standard (xy) coordinate plane, (12,3) is
/Z) = "{ + é :D - - ‘ half-way between (24, @ + 3) and (d4a, a — 5). What is
- {he value of @ ?
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Jo 0 X= 51. How many 3-letter orderings, where na letter is
K. The system has no solution. repeated, can be made using the Jetters of the word
GATORS ?
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44. Consider the exponential equation y = Ca’, where C B 6 e —
and a are positive real constants and ¢ is a Eoﬁitive real o W2
number, The value of y decreases as the value of @ 120 R
t increases if and only if which of the following . 216 30 Q( - {,k{)

statements about a is true?
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D<ca<l i :S cube with vectices A through H has edges that are
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K. l<a (0,0,0), and H is un the positive y-uxis. What are the
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45. What is the distance, in coordinate units, between the
points P(-2,-1) and ((1,3) in the standard (x.y)
coordinate plane? ™ )
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Sgr Whenever x, y; and z are positive real numbers, which

of the following expressions equwalent to
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59. In the triangle below, where the 2 given side lengths
are expressed in feet, what is the value of b ?
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54. 11 2 <

x < 5and ~4 ¢ y £ -3, what is the maximum

value of |y -2x] ?
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60. An angle in srandard position in the srandard
(x,y) coordinate plane has its vertex at the origin and
its initial side on the positive x-axis. If the measure of
an angle in standard position is 1,573°, it has the same
terminal side as an angle of each of the following
measures EXCEPT:
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57. Which of the following is an equivalent expressien for

rin tcr-ns of § and ¢ whenever r, S, and f are all distinct
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is the value of x 7 *
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K. Cannot be deternined from the given information
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58, 1n the figure below, lines [ and m are parallel and angle
measures are as marked. If it can be determined, what
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